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I Continuation of discussion re 0%y 970 and the duration of monarchic rules, using m oW mw to identify current year
a 9™ (since m1vw MW starts 380 years before the j279n...) if a Xin is confused about how many years it has been since
the 12711, he can ask a 1970 what year he has recorded and add 20 (to the minor number), mnemonic - v. 1
i Andif: a9 gets confused, he can ask a Xin how many years since the 127170 and subtract twenty (mnemonic)
b Quote from 11758 227 X2 world history is 2K ymn, 2K nmin (v. 2), 2K mwnn mn»
i 977if a Rin is unsure about which year it is relative to n>wnn mny, ask the 990 and add 48 (to minor number)
1 Reason: m1vw mw began 552 years before end of 4K, at which point n»wnn mn’ begin; mnemonic-v. 3
2 And if: 990 gets confused, he can ask a Xin how many years since the 1271 and subtract 52 (mnemonic)
¢ ~mi 1 if someone doesn’t know which year within nvnw it is, he can count from jamn (which took place during 1st
year of cycle), taking 2 years from each century (14*7=98) — per v. 4, and calculate year of nonw
d  ~22n 77 wwn should arrive by 400t year from 127 (= don’t buy a field in »”}, even at a great price, as it will immedi-
ately revert to original owners)
i ap79x 403 year from 1290
e  Story:avw came to N1 YW W TN 2 which was 6 years “post-dated”
i Students: assumed it was a deliberate ImRn 10w and treated it as such
ii 277 this 1910 begins his count 6 years earlier, from point where Alexander conquered Elam (per n%y 770 — 6 years
before conquering “entire world”) — 9vw is valid, reckon year as current
iii ~ Challenge (372 72 8K 77): perhaps n110W are written from n>3¥n nX>x> 101 and he left out the thousands, and it was
written as a ImRn 70V by 6 years
1 Answer (179):in 913, we only reckon by Greek rule,
(a) Proof: contradiction in R:X N7 resolved — under foreign kings, the new year for m7ow begins with »wn
(i) But: when reckoning the rule of Y%7 »3%n, it begins in jo7
(if) And: since we begin our years in wn for mmow - we count from foreign kings
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